

SOME NEW INEQUALITIES FOR MEANS IN TWO VARIABLES

LING ZHU

(communicated by P. Bullen)

Abstract. In this paper, some new bounds for $LP(x, y)$ and $IP(x, y)$ in terms of $AP(x, y)$ and $GP(x, y)$ are established.

1. Introduction

Assume x and y to be two different positive numbers, let $A(x, y) = \frac{x+y}{2}$, $G(x, y) = \sqrt{xy}$, $L(x, y) = \frac{x-y}{\log x - \log y}$, and $I(x, y) = \frac{1}{e} \left(\frac{x^x}{y^y} \right)^{\frac{1}{x-y}}$ be arithmetic, geometric, logarithmic, and identric mean, respectively. Then it is well-known that (see [1-4])

$$G(x, y) < L(x, y) < I(x, y) < A(x, y). \quad (1)$$

Carlson [5] gives bounds for $L(x, y)$ in terms of $G(x, y)$ and $A(x, y)$ as follows

$$L(x, y) < \frac{1}{3}A(x, y) + \frac{2}{3}G(x, y). \quad (2)$$

The further results are obtained by [6] and [7] (or see [8]) as follows

$$\alpha_1 A(x, y) + (1 - \alpha_1)G(x, y) < L(x, y) < \beta_1 A(x, y) + (1 - \beta_1)G(x, y) \quad (3)$$

holds if and only if $\alpha_1 \leq 0$ and $\beta_1 \geq 1/3$.

On the other hand, Sandor [9] proves that

$$\frac{2}{3}A(x, y) + \frac{1}{3}G(x, y) < I(x, y). \quad (4)$$

Alzer and Qiu [6] obtains the following interesting result:

$$\lambda_1 A(x, y) + (1 - \lambda_1)G(x, y) < I(x, y) < \mu_1 A(x, y) + (1 - \mu_1)G(x, y) \quad (5)$$

holds if and only if $\lambda_1 \leq 2/3$ and $\mu_1 \geq 2/e$.

Mathematics subject classification (2000): 26E60, 26D07.

Key words and phrases: Geometric mean, logarithmic mean, identric mean, arithmetic mean, best constants.

Another counterpart of (4) has been obtained by Sandor and Trif [10]. In [10], they prove that

$$I^2(x, y) < \frac{2}{3}A^2(x, y) + \frac{1}{3}G^2(x, y). \quad (6)$$

Recently, Trif [11] obtains

$$\lambda_p A^p(x, y) + (1 - \lambda_p)G^p(x, y) < I^p(x, y) < \mu_p A^p(x, y) + (1 - \mu_p)G^p(x, y) \quad (7)$$

holds with $p \geq 2$ if and only if $\lambda_p \leq (\frac{2}{e})^p$ and $\mu_p \geq \frac{2}{3}$.

In this paper, we give the following generalizations of (3) and (5), and in the process a simpler of (7).

THEOREM 1. *Let $p \geq 1$, then*

$$\alpha_p A^p(x, y) + (1 - \alpha_p)G^p(x, y) < L^p(x, y) < \beta_p A^p(x, y) + (1 - \beta_p)G^p(x, y) \quad (8)$$

holds if and only if $\alpha_p \leq 0$ and $\beta_p \geq 1/3$.

THEOREM 2. *Let $p > 0$, then:*

(1) *if $0 < p \leq 6/5$, the double inequality*

$$\lambda_p A^p(x, y) + (1 - \lambda_p)G^p(x, y) < I^p(x, y) < \mu_p A^p(x, y) + (1 - \mu_p)G^p(x, y) \quad (9)$$

holds if and only if $\lambda_p \leq \frac{2}{3}$ and $\mu_p \geq (\frac{2}{e})^p$;

(2) *if $p \geq 2$, the double inequality*

$$\lambda_p A^p(x, y) + (1 - \lambda_p)G^p(x, y) < I^p(x, y) < \mu_p A^p(x, y) + (1 - \mu_p)G^p(x, y) \quad (10)$$

holds if and only if $\lambda_p \leq (\frac{2}{e})^p$ and $\mu_p \geq \frac{2}{3}$.

2. A Lemma

LEMMA 1. ([12-13]) *Let $f, g : [a, b] \rightarrow \mathbb{R}$ be two continuous functions which are differentiable on (a, b) . Further, let $g' \neq 0$ on (a, b) . If f'/g' is increasing (or decreasing) on (a, b) , then the functions*

$$\frac{f(x) - f(b)}{g(x) - g(b)}$$

and

$$\frac{f(x) - f(a)}{g(x) - g(a)}$$

are also increasing (or decreasing) on (a, b) .

3. A Short Proof of Theorem 1

Theorem 1 is equivalent to the following inequalities

$$0 < \frac{L^p(x, y) - G^p(x, y)}{A^p(x, y) - G^p(x, y)} < \frac{1}{3}. \tag{11}$$

Without loss of generality, we set $0 < x < y$. Let $u = \sqrt{y/x}$, then $u > 1$ and

$$\frac{L^p(x, y) - G^p(x, y)}{A^p(x, y) - G^p(x, y)} = \frac{\left(\frac{u^2-1}{2\log u}\right)^p - u^p}{\left(\frac{u^2+1}{2}\right)^p - u^p}.$$

Let $\log u = t$ or $u = e^t$, then $t > 0$ and

$$\frac{L^p(x, y) - G^p(x, y)}{A^p(x, y) - G^p(x, y)} = \frac{\left(\frac{\sinh t}{t}\right)^p - 1}{(\cosh t)^p - 1} \equiv H(t).$$

Using power series expansions we have that $\lim_{t \rightarrow 0^+} H(t) = \frac{1}{3}$. Rewriting $H(t)$ as $\frac{\left(\frac{\tanh t}{t}\right)^p - \left(\frac{1}{\cosh t}\right)^p}{1 - \left(\frac{1}{\cosh t}\right)^p}$ we see that $\lim_{t \rightarrow +\infty} H(t) = 0$. Hence Theorem 1 will follow if we prove that the function $H(t)$ is decreasing on $(0, +\infty)$.

Now, let $H(t) = \frac{f_1(t) - f_1(0^+)}{g_1(t) - g_1(0^+)}$, where $f_1(t) = \left(\frac{\sinh t}{t}\right)^p$, and $g_1(t) = (\cosh t)^p$. Then

$$\frac{f_1'(t)}{g_1'(t)} = \left(\frac{f_2(t)}{g_2(t)}\right)^{p-1} \frac{f_3(t)}{g_3(t)}, \tag{12}$$

where $f_2(t) = \sinh t$, $g_2(t) = t \cosh t$, $f_3(t) = t \cosh t - \sinh t$, and $g_3(t) = t^2 \sinh t$.

We find that $\frac{f_2'(t)}{g_2'(t)} = \frac{1}{1+t \tanh t}$ is decreasing on $(0, +\infty)$, so $\frac{\sinh t}{t \cosh t} = \frac{f_2(t) - f_2(0)}{g_2(t) - g_2(0)}$ is decreasing on $(0, +\infty)$ by Lemma 1. At the same time, $\frac{f_3'(t)}{g_3'(t)} = \frac{1}{2+(t \cosh t)/\sinh t}$ is also decreasing on $(0, +\infty)$. So $\frac{f_3(t)}{g_3(t)} = \frac{f_3(t) - f_3(0)}{g_3(t) - g_3(0)}$ is decreasing on $(0, +\infty)$ by Lemma 1. Since for $p \geq 1$, we have that $\frac{f_1'(t)}{g_1'(t)}$ is decreasing on $(0, +\infty)$ from (12). This leads to that $H(t) = \frac{f_1(t) - f_1(0^+)}{g_1(t) - g_1(0^+)}$ is decreasing on $(0, +\infty)$ by Lemma 1.

4. A Concise Proof of Theorem 2

By the same way, we can compute and obtain

$$\frac{I^p(x, y) - G^p(x, y)}{A^p(x, y) - G^p(x, y)} = \frac{e^{(t \coth t - 1)p} - 1}{(\cosh t)^p - 1} \equiv J(t),$$

where $t > 0$.

Let $J(t) = \frac{q_1(t) - q_1(0^+)}{r_1(t) - r_1(0^+)}$, where $q_1(t) = e^{(t \cosh t - 1)p}$, and $r_1(t) = (\cosh t)^p$. Then

$$\frac{q_1'(t)}{r_1'(t)} = \frac{1}{2} e^{(t \cosh t - 1)p} \frac{\sinh 2t - 2t}{(\cosh t)^{p-1} (\sinh t)^3} \equiv k(t). \quad (13)$$

we compute

$$\begin{aligned} & \frac{k'(t)}{e^{(t \cosh t - 1)p}} \\ &= \frac{p(\sinh 2t - 2t)^2 + 2(\cosh 2t - 1)^2 - 2(p-1)(\sinh 2t - 2t)(\sinh t)^2 \tanh t - 3 \sinh 2t(\sinh 2t - 2t)}{4(\cosh t)^{p-1} (\sinh t)^5} \\ &= \frac{p(\sinh 2t - 2t)^2 + 2(\cosh 2t - 1)^2 - (p-1)(\sinh 2t - 2t) \frac{(\cosh 2t - 1) \sinh 2t}{\cosh 2t + 1} - 3 \sinh 2t(\sinh 2t - 2t)}{4(\cosh t)^{p-1} (\sinh t)^5} \\ &= \frac{u(t)}{4(\cosh t)^{p-1} (\sinh t)^5 (\cosh 2t + 1)}, \end{aligned}$$

where

$$\begin{aligned} u(t) &= p(\sinh 2t - 2t)^2 (\cosh 2t + 1) + 2(\cosh 2t - 1)^2 (\cosh 2t + 1) \\ &\quad - 2(p-1)(\sinh 2t - 2t)(\cosh 2t - 1) \sinh 2t - 3 \sinh 2t(\sinh 2t - 2t)(\cosh 2t + 1). \end{aligned}$$

Let $w = 2t$, then $w > 0$ and

$$\begin{aligned} v(w) &= u(t) = p(\sinh w - w)^2 (\cosh w + 1) + 2(\cosh w - 1)^2 (\cosh w + 1) \\ &\quad - 2(p-1)(\sinh w - w)(\cosh w - 1) \sinh w - 3 \sinh w(\sinh w - w)(\cosh w + 1) \\ &= \frac{1}{2}(2-p)w \sinh 2w + pw^2 \cosh w + (p-3)(\cosh 2w - 1) + (4-3p)w \sinh w + pw^2 \\ &= \frac{2-p}{2} w \sum_{k=0}^{\infty} \frac{(2w)^{2k+1}}{(2k+1)!} + pw^2 \sum_{k=0}^{\infty} \frac{(w)^{2k}}{(2k)!} + (p-3) \left[\sum_{k=0}^{\infty} \frac{(2w)^{2k}}{(2k)!} - 1 \right] \\ &\quad + (4-3p)w \sum_{k=0}^{\infty} \frac{(w)^{2k+1}}{(2k+1)!} + pw^2 \\ &= \sum_{k=3}^{\infty} a_{2k} w^{2k}, \end{aligned}$$

where

$$\begin{aligned} a_{2k} &= \frac{((k-3)2^{2k} + 8k) - ((\frac{k}{2} - 1)2^{2k} + 8k - 4k^2)p}{(2k)!} \\ &= \frac{(\frac{k}{2} - 1)2^{2k} + 8k - 4k^2}{(2k)!} \left(\frac{(k-3)2^{2k} + 8k}{(\frac{k}{2} - 1)2^{2k} + 8k - 4k^2} - p \right). \end{aligned}$$

Since that the function $I(x) \equiv ((x-3)2^{2x} + 8x)/((\frac{x}{2} - 1)2^{2x} + 8x - 4x^2)$ is strictly increasing from $[3, +\infty)$ onto $[6/5, 2)$, we obtain results in two cases:

(i) If $0 < p \leq 6/5$, we have $a_{2k} \geq 0$ (equality holds if and only if $k = 3$) and $v(w) \equiv u(t) > 0$. So $q'_1(t)/r'_1(t) = k(t)$ is increasing on $(0, +\infty)$. This leads to that $J(t)$ is increasing on $(0, +\infty)$ by Lemma 1. At the same time, following the same method as that we had used in determining the limits of function $H(t)$, we have $\lim_{t \rightarrow 0^+} J(t) = 2/3$ and $\lim_{t \rightarrow +\infty} J(t) = (2/e)^p$. So the proof of (1) in Theorem 2 is complete;

(ii) If $p \geq 2$, we obtain (2) in Theorem 2 by the same way.

REMARK 1. In Section 3, we obtain essentially that the inequality

$$\left(\frac{\sinh t}{t}\right)^p < (1 - \beta_p) + \beta_p(\cosh t)^p \quad (14)$$

holds for $p \geq 1$ and $t > 0$ if and only if $\beta_p \geq 1/3$.

In particular if $p = 1$ we get from (14) that

$$\frac{\sinh t}{t} < (1 - \beta_1) + \beta_1 \cosh t \quad (15)$$

holds for $t > 0$ if and only if $\beta_1 \geq 1/3$.

Taking $\beta_1 = 1$ in (15) leads to the well-known inequality (see [14], [15, p.9])

$$\frac{\sinh t}{t} < \cosh t, \quad t > 0. \quad (16)$$

REMARK 2. In Section 4, we obtain two results as follows:

(a) If $0 < p \leq 6/5$, the double inequality

$$(1 - \lambda_p) + \lambda_p(\cosh t)^p < e^{(t \coth t - 1)p} < (1 - \mu_p) + \mu_p(\cosh t)^p \quad (17)$$

holds for $t > 0$ if and only if $\lambda_p \leq \frac{2}{3}$ and $\mu_p \geq (\frac{2}{e})^p$.

(b) If $p \geq 2$, the double inequality

$$(1 - \lambda_p) + \lambda_p(\cosh t)^p < e^{(t \coth t - 1)p} < (1 - \mu_p) + \mu_p(\cosh t)^p \quad (18)$$

holds for $t > 0$ if and only if $\lambda_p \leq (\frac{2}{e})^p$ and $\mu_p \geq \frac{2}{3}$.

REFERENCES

- [1] D. S. MITRINOVIC, *Analytic inequalities*, Springer-Verlag, 1970.
- [2] B. OSTLE AND H. L. TERWILLIGER, *A comparison of two means*, Proc. Montana Acad. Sci. **17** (1957), 67–70.
- [3] E. B. LEACH AND M. C. SHOLANDER., *Extended mean values*, J. Math. Anal. Appl. **92** (1983), 207–223.
- [4] J. SANDOR, *On the identric and logarithmic means*, Aequat. Math. **40** (1990), 261–270.
- [5] B. C. CARLSON., *The logarithmic mean*, Amer. Math. Monthly **79** (1972), 615–618.
- [6] H. ALZER AND S.-L. QIU, *Inequalities for means in two variables*, Arch. Math. **80** (2003), 201–215.
- [7] L. ZHU AND J. H. WU, *The weighted arithmetic and geometric means of the arithmetic mean and the geometric Mean*, Journal of Mathematics for Technology (in Chinese) **14** (1998), 150–154.
- [8] L. ZHU, *From chains for mean value Inequalities to Mitrinovic's problem II*, Int. J. Educ. Sci. Technol. **36** (2005), 118–125.
- [9] J. SANDOR, *A note on some Inequalities for means*, Arch. Math. **56** (1991), 471–473.

- [10] J. SANDOR AND T. TRIF, *Some new inequalities for means of two arguments*, *Internat. J. Math. Math. Sci.* **25** (2001), 525–532.
- [11] T. TRIF, *Note on certain inequalities for means in two variables*, *J. Inequal. Pure Appl. Math.* **6** (2005), article 43, 5 pp. (electronic).
- [12] G. D. ANDERSON, S.-L. QIU, M. K. VAMANAMURTHY, AND M. VUORINEN, *Generalized elliptic integral and modular equations*, *Pacific J. Math.* **192** (2000), 1–37.
- [13] I. PINELIS, *L'Hospital type results for monotonicity, with applications*, *J. Inequal. Pure Appl. Math.* **3** (2002), article 5, 5 pp. (electronic).
- [14] ZS. PALES, *Inequalities for differences of powers*, *J. Math. Anal. Appl.* **131** (1988), 271–281.
- [15] P. S. BULLEN, *Handbook of means and their inequalities*, Kluwer Academic Publishers, 2003.

(Received January 30, 2006)

Ling Zhu
Department of Mathematics
Zhejiang Gongshang University
HangZhou
Zhejiang 310035
P. R. of China
e-mail: zhuling0571@163.com